RSL Sub Branch Sticker

AUSTRALIAN OLUMES

State map with RSL logo and printed with your sub branch name. Outdoor, UV resistant, waterproof stickers for use on vehicles, presentation books and gifts, bottles, etc. Sell to members and visitors

Order and pay direct to manufacturer.

Price includes GST and postage to anywhere in Australia.

Size – 7.5cm x 9.5cm

Rec. Retail Price - \$6.95



	KSL	Sub Branch
State:	Postcode:	
	Fax: ()	
Ordering O	fficer:	
below the full name of S	Sub-Branch to be printed on sticke	P r
	State: Ordering O	State:Postcode:

Please Tick	No. Ordered	Cost Per Unit	Cost Total
	25 Minimum	\$3.44	\$85.95
	50 Units	\$3.16	\$157.95
	100 Units	\$2.83	\$282.95
	200 Units	\$2.66	\$532.95
	300 Units	\$2.33	\$699.95

*Please note: If your total order is under \$150.00 a standard freight charge will apply.

Please complete and send order form and payment direct to the supplier:

Jantke Art Studio Services

104 Station Rd Burpengary Qld 4505

PH: (07) 3888 5993 M: 0423 824 714 FAX: (07) 3888 5996

RSL Poppy Pair Stickers Order Form





Please Supply:	
Address:	
State:	
Postcode:	
Phone:()	
Email:	
Ordering Officer:	
	THEFT
	WE
	LEST WE FORGET

	Small Stickers – 4cm x 6cm			
Please Tick	Pack Size	Price Per Sticker	Price Per Pack	
	Small - Contains 25 Stickers	\$1.20	\$29.95	
	Medium - Contains 50 Stickers	\$1.00	\$49.95	
	Large - Contains 100 Stickers	\$0.80	\$79.95	

	Medium Stickers – 7.5cm x 11cm			
Please Tick	Pack Size	Price Per Sticker	Price Per Pack	
	Small - Contains 12 Stickers	\$2.49	\$29.95	
	Medium - Contains 25 Stickers	\$1.99	\$49.95	
	Large - Contains 50 Stickers	\$1.60	\$79.95	

Large Stickers – 13.5cm x 20cm			
Please Tick	Pack Size	Price Per Sticker	Price Per Pack
	Small - Contains 5 Stickers	\$5.99	\$29.95
	Medium - Contains 9 Stickers	\$5.55	\$49.95
	Large - Contains 15 Stickers	\$5.33	\$79.95

Please combine the sub totals from the above chart and transfer to the back page

Poppy Pair Total \$

*Please note: If your total order is under \$150.00 a standard freight charge will apply.

Please complete and send order form and payment direct to the supplier:

Jantke Art Studio Services

104 Station Rd Burpengary Qld 4505

PH: (07) 3888 5993 M: 0423 824 714 FAX: (07) 3888 5996

RAAF Association Crest Order Form

Outdoor vinyl waterproof stickers

Please Supply:		
Address:		
	State:	Postcode:
Phone: ()		
Email:		
Ordering Officer:		

	OWNED
_	refraction.
_	
_	
_	RAAFEREN
-	R.A.A.F. ASSOCIATION

Small Stickers – 4.6cm x 4.4cm			
Please Tick	Pack Size	Price Per Sticker	Price Per Pack
	Small - Contains 25 Stickers	\$1.20	\$29.95
	Medium - Contains 50 Stickers	\$1.00	\$49.95
	Large - Contains 100 Stickers	\$0.80	\$79.95

	Medium Stickers – 9cm x 8.7cm			
Please Tick	Pack Size	Price Per Sticker	Price Per Pack	
	Small - Contains 12 Stickers	\$2.49	\$29.95	
	Medium - Contains 25 Stickers	\$1.99	\$49.95	
	Large - Contains 50 Stickers	\$1.60	\$79.95	

Large Stickers – 18.5cm x 17.5cm			
Please Tick	Pack Size	Price Per Sticker	Price Per Pack
	Small - Contains 5 Stickers	\$5.99	\$29.95
	Medium - Contains 9 Stickers	\$5.55	\$49.95
	Large - Contains 15 Stickers	\$5.33	\$79.95

Extra Large Stickers – 32cm x 30cm			
No. Required	Sticker Size	Price Per Sticker	Price Per Sticker
	Extra Large - Single only	\$15.95	\$15 95

Please combine the sub totals from the above

RAAF Association Crest Stickers Total \$

*Please note: If your total order is under \$150.00 a standard freight charge will apply.

Please complete and send order form and payment direct to the supplier:

Jantke Art Studio Services

104 Station Rd Burpengary Qld 4505

PH: (07) 3888 5993 M: 0423 824 714 FAX: (07) 3888 5996

RSL Ladies Auxiliary Order Form

Outdoor vinyl waterproof stickers

Please Supply:		
Address:		
	State:	Postcode:
Phone: ()		
Email:		
Ordering Officer:		



Small Stickers – 4cm x 5cm			
Please Tick Pack Size Price Per Sticker Price Per Pack			
	Small - Contains 25 Stickers	\$1.20	\$29.95
	Medium - Contains 50 Stickers	\$1.00	\$49.95
	Large - Contains 100 Stickers	\$0.80	\$79.95

Medium Stickers – 8cm x 10cm				
Please Tick Pack Size Price Per Sticker Price Per Pack				
	Small - Contains 12 Stickers	\$2.49	\$29.95	
	Medium - Contains 25 Stickers	\$1.99	\$49.95	
	Large - Contains 50 Stickers	\$1.60	\$79.95	

Large Stickers – 16cm x 20cm			
Please Tick Pack Size Price Per Sticker Price Per Pack			
	Small - Contains 5 Stickers	\$5.99	\$29.95
	Medium - Contains 9 Stickers	\$5.55	\$49.95
	Large - Contains 15 Stickers	\$5.33	\$79.95

Extra Large Stickers – 28cmm x 35cm			
No. Required Sticker Size Price Per Sticker Price Per Sticker			
	Extra Large - Single only	\$15.95	\$15 95

Please combine the sub totals from the above chart and transfer to the back page

Ladies Auxiliary Total \$

*Please note: If your total order is under \$150.00 a standard freight charge will apply.

Please complete and send order form and payment direct to the supplier:

Jantke Art Studio Services

104 Station Rd Burpengary Qld 4505

PH: (07) 3888 5993 M: 0423 824 714 FAX: (07) 3888 5996

Supportt Our Forces Order Form

Outdoor vinyl waterproof stickers

Please Supply:		
Address:		
	State:	Postcode:
Phone: ()		
Email:		
Ordering Officer:		



	Small Stickers - 3.2cm x 7cm			
Please Tick	Pack Size	Price Per Sticker	Price Per Pack	
	Small - Contains 25 Stickers	\$1.20	\$29.95	
	Medium - Contains 50 Stickers	\$1.00	\$49.95	
	Large - Contains 100 Stickers	\$0.80	\$79.95	

Medium Stickers - 6cm x 13cm			
Please Tick Pack Size Price Per Sticker Price Per Pack			
	Small - Contains 12 Stickers	\$2.49	\$29.95
	Medium - Contains 25 Stickers	\$1.99	\$49.95
	Large - Contains 50 Stickers	\$1.60	\$79.95

Large Stickers - 11.5cm x 25cm			
Please Tick	Pack Size	Price Per Sticker	Price Per Pack
	Small - Contains 5 Stickers	\$5.99	\$29.95
	Medium - Contains 9 Stickers	\$5.55	\$49.95
	Large - Contains 15 Stickers	\$5.33	\$79.95

Extra Large Stickers - 18cm x 40cm				
No. Required	equired Sticker Size Price Per Sticker Price Per Sticker			
	Extra Large - Single only	\$15.95	\$15 95	

Please combine the sub totals from the above chart and transfer to the back page

Support Our Forces Total \$

*Please note: If your total order is under \$150.00 a standard freight charge will apply.

Please complete and send order form and payment direct to the supplier:

Jantke Art Studio Services

104 Station Rd Burpengary Qld 4505

PH: (07) 3888 5993 M: 0423 824 714 FAX: (07) 3888 5996

RSL Crest Stickers Order Form

Outdoor vinyl waterproof stickers

Please Supply:		
Address:		
	State:	Postcode:
Phone: ()		
Email:		
Ordering Officer:		
-		



Small Stickers – 4cm x 5cm				
Please Tick Pack Size Price Per Sticker Price Per Pack				
	Small - Contains 25 Stickers	\$1.20	\$29.95	
	Medium - Contains 50 Stickers	\$1.00	\$49.95	
	Large - Contains 100 Stickers	\$0.80	\$79.95	

Medium Stickers – 8cm x 10cm					
Please Tick	Pack Size	Price Per Sticker	Price Per Pack		
	Small - Contains 12 Stickers	\$2.49	\$29.95		
	Medium - Contains 25 Stickers	\$1.99	\$49.95		
	Large - Contains 50 Stickers	\$1.60	\$79.95		

Large Stickers – 16cm x 20cm					
Please Tick	Pack Size	Price Per Sticker	Price Per Pack		
	Small - Contains 5 Stickers	\$5.99	\$29.95		
	Medium - Contains 9 Stickers	\$5.55	\$49.95		
	Large - Contains 15 Stickers	\$5.33	\$79.95		

Extra Large Stickers – 28cm x 35cm					
No. Required	Sticker Size	Price Per Sticker	Price Per Sticker		
	Extra Large - Single only	\$15.95	\$15 95		

Please combine the sub totals from the above

RSL Cre	RSL Crest Stickers Total		
Please combine the sub total for a	II previous pages	\$	
Please combine previous pages and this page totals -	Order Total -	\$	
If order is over \$150.00 plo	ease do not add freigl	ht charge	below charge
Freight is free for all orders over \$150.00 -	Add Freight -	\$	8.50
Order Total. All prices include GST -	Order Total -	\$	-

Please complete and send order form and payment direct to the supplier:

Jantke Art Studio Services

104 Station Rd Burpengary Qld 4505

PH: (07) 3888 5993 M: 0423 824 714 FAX: (07) 3888 5996